Adda

e

PPSC

GET IT ON
Google Play

Previous Year Paper
Naib Tehsildar 2014


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

GET IT ON

Adda 2"' 7 Google Play

c READ INSTRUCTIONS GIVEN ON THIS PAGE BEFORE FILLING UP DETAILS OR ATTEMPTING
TO ANSWER THE QUESTIONS.

Booklet Sr. No. Roll No.
General Knowledge
Registration No.
OMR Response Sheet No.

Name :

3 Question Booklet
Father’s Name : Series

D D M M Y “YRSYRYy

gkt W -l N B D T
Candidate’s Signature : [Total Questions : 100]
(Please sign in the box) [rrime Allowed : 2:00 HOllIB]

The candidate shall NOT open this booklet till the time told to do so by the Invigilator. However, in the meantime, the candidate
may read the instructions carefully and subsequently fill the appropriate columns given above in CAPITAL letters. The
candidate may also fill relevant columns (Other than the columns for marking responses to the questions) of the OMR Response
Sheet, supplied separately.

2. Use only BLUE OR BLACK ball point pen to fill the relevant columns on this page. Use similar pen for marking responses on
OMR Response Sheet. Use of fountain pen may leave smudges, which may make the information given by the candidate
illegible.

3. The candidate shall be liable for any adverse effect if the information given by the candidate here or on the OMR Response Sheet,
is illegible.

4.  Each candidate must fill all the columns given above on this page and sign at the appropriate place.

5. Each candidate is required to attempt 100 questions in two hours, except for visually impaired candidates, who would be given
20 minutes extra for marking their responses on the OMR Response Sheet, which will be supplied to the candidates separately.

6. The candidate must write the Serial No. of OMR Response Sheet in the appropriate column of this Question Booklet. Similarly,
the candidate MUST write the Serial No. of this Question Booklet and the Series of the Question Booklet at the appropriate
column on the OMR Response Sheet. Failure to do so may result in rejection of the candidature of the candidate or non-
evaluation of the OMR Response Sheet or both.

7. The candidate should darken the appropriate response to the question by completely darkening the appropriate circle/oval
according to his/her choice of response i.e. a, b, ¢ or d in the manner shown in the example below :

a b e d
O @& O O

8.  Partly darkening the circle/oval on the OMR response sheet or using other symbols such as tick mark or cross, would not result in
evaluation of the response as the OMR scanner can only interpret the answers by reading the darkened responses in the manner
explained in preceding paragraph. Darkening more than one circle/oval as response to a question shall also be considered as
Wrong answer.

9. This question paper booklet has 32 pages. THE QUESTIONS ARE PRINTED IN ENGLISH AND PUNJABI. QUESTIONS IN
PUNJABI ARE A TRANSLATION OF THE ENGLISH QUESTIONS. IN CASE OF ANY AMBIGUITY IN TRANSLATION,
THE ENGLISH VERSION WILL BE DEEMED AUTHENTIC AND FINAL

10. THE CANDIDATES, WHEN ALLOWED TO OPEN THE QUESTION PAPER BOOKLET MUST CHECK THE BOOKLET

TO CONFIRM THAT THE BOOKLET HAS COMPLETE NUMBER OF PAGES, THE PAGES ARE PRINTED CORRECTLY
AND THERE ARE NO BLANK PAGES. IN CASE THERE IS ANY SUCH ERROR IN THE QUESTION PAPER BOOKLET
THEN THE CANDIDATE SHOULD IMMEDIATELY BRING THIS FACT TO THE NOTICE OF THE INVIGILATION
STAFF AND OBTAIN A BOOKLET OF THE SAME SERIES AS GIVEN EARLIER.
Thereafter, the serial number of the booklet should be entered in the relevant column of the OMR. Wherever applicable, the
candidate should request the Invigilation Staff to authenticate the change in the serial number of question booklet by making
correction in the appropriate column of Attendance Sheet, where the Staff shall enter the correct serial number of the question
booklet and initial the same,

11. All questions carry equal marks i.e. one mark for each question.

12. There is no negative marking,

13. THERE ARE FOUR OPTIONS FOR EACH QUESTION AND THE CANDIDATE HAS TO MARK THE MOST
APPROPRIATE ANSWER ON THE OMR RESPONSE SHEET.

14. THE RIGHT TO EXCLUDE ANY QUESTION(S) FROM FINAL EVALUATION RESTS WITH THE COMMISSION.

GK 2014 (A-1)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

1. Which of the following pair(s) is/are | 1. 5 fodfht St fe9 fagdt 8t

correctly matched ? vt 3395 2

1. Surkotada - Coast of Gujarat 1. FIIEST — IS = micdt 32

2. Rakhigarhi — Gulf of Cambay 2 W 5 é@ &ty L

3. Kalibangan — River Ghaggar, 3 Sreftedars — TS s, THFES

Rajasthan
4. Banawali — Fatehabad, * - 3T, I
Haryana Iz fou fe3 @!33 g :

Choose the answer from the following : (a) 1 M3 4

(a) 1land4 () 1,3 M3 4

(b) 1,3 and 4 (c) THITE 3

() Only3 d 334

(d Sand4 9. “fgms owwm’ w3 fed
2. The terms “Krishan ayas” and wWaH HEE, Iz T gt ﬁ—éé

“Shyama ayas” refer to which of the fagst o3 <% HA3 JIE TS ?

following metals ? (a) 3=T

(a) Copper (b) FTHT

(b) Bronze ) BT

(¢) Iron @ fHar

(@ Lead s 5 fefew feg = e
3. Who of the following is considered to qapugeT < A HiemT e

be the founder of Ajivika Sect ? J 2

1. Makhali Gosala 1. HYS TS

2. Ashoka 9 WHAT

3. Bindusara 3. fa=mar

4. Gautamiputra Satkarni 4 W 3338

Choose the answer from the following : = fou f=5 =g 92 -

(a) Only1l e

(® 1and?2 b 1732

(¢) 3and4 (c) 3 M3 4

(d) None of the above (d) @u—aas' feg St &t &JF
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4. Match the following events of the life | 4,
cycle of Buddha with the place
associated with them :

Event Place
A. Birth 1. Sarnath
B. Enlightenment 2. Kushinagra
C. First Sermon 3. Lumbini
D. Nirvana 4. Bodh Gaya
Choose the answer from the following :
A B C D
il 2 3 4
() 3 4 1 2
) 3 4 2 3%
(d 4 -3 1988

5. Arrange the following in chronological
order : 5.
1. Morley Minto Reforms
2. Surat Session of Congress
3. Rowlatt Act
4. Salt Satyagraha
5. Bhoodan Movement
Choose the answer from the following :

(a) /1,3,2,4,5
(b) 2,1,3,4,5
e 1,23,4,5
@ 2,1,5,4,3

6. In India, amongst the following i
locations, where did the Dutch
establish their earliest factory ?

(a) Surat
(b) Pulicat
(¢) Cochin
(d) Cassimbazar/Kasim Bazar
GK 2014 (A-3)
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w%efé &% HYU3 HE'S
3 HS d9
ueaT HTS
A. #8H 1. A'9&H
B. fars ygam 2. IfFse9
(Enlightenment)
c. ufgs Guem 3. BfEat
D. fag== 4. 97 @
Js fou feg €39 5
A B CD
(a)"1 2 8 4
b 3 4 1 2
© 3 4 2 1
k) 4 8. 10 2
Js fefim® § Ie-gi &t 39y

(chronological order) feg =9 -

1. Hes-fie mgua (fagamm)
JalgH = g93 Aws (feasm)
I8 wfafs@H (Rowlatt Act)
BHI AT

I-TE WIS
ﬁsﬁﬁmwﬁé@zaqé

(a)irY,'s, 2,4, 5

() 2,1,8,4,5

€ 1,2,38,4,5

d 2,1,54,3

g9z fey, Iz fodtwt gt fad,
39 (Dutch) =8 W9 3 ufgst aedt
fog marfuz St arsft H 2

(a) HII

(b) ufsae
(c)

(d)

I NS

s
Y 5979
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8.

9.

10.

GK 2014

The resolution on Fundamental Rights | 7.
and Economic Programme, drafted by
Jawahar Lal Nehru, was adopted in
which session of the Congress ?

(a) Kanpur Session, 1925
(b) Madras Session, 1927
(c) Karachi Session, 1931
(d) Bombay Session, 1934

-Who among the following was/were 8

related with the Mutiny of 1857 ?

1. Bakht Khan

2. Bhai Parmanand

3. Kunwar Singh

4. Nana Sahib

Choose the answer from the following :
(a) Only1

(b) 1,2and 4

(¢) 1,3and4

(d 3and4

“Esoteric Christianity” is the famous
work of which of the following eminent
personalities ?

(a) Robert Clive

(b) Dadabhai Naoroji
(¢) A.O. Hume

(d) Annie Besant

In the context of Indian freedom
struggle, which one of the following
movements is associated with the
Gandhi-Irwin Pact ?

(a) Civil Disobedience Movement
(b) Non-Cooperation Movement

(c)
(d)

Swadeshi Movement
Quit India Movement

(A-4)
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(fers™) feg »iusfomr fapur Ht 2
(a) ABYT AHS, 1925

(b) HEITH AFES, 1927

(¢ FI& AHES, 1931

@ 99 fws, 1934

Js faft f=F J= 1857 =
feedargar=3s 5 H¥uz Hims 2

1. I¥3 US

2. SH ygHde

3 d=g fiw

4. &% Hfgg

J5 feu fod €39 9 .

(a) fAge 1

(b) 1,2 %3 4

(© 1,3 W3 4

d 3 M3 4

TRl 7?77%?? e (Esoteric

Christianity) J& fout @guﬂ"ﬂ"

gwﬁmg*k% far &t yfg gesr
?

(a) JTEIC IHBeI

(b) T=IE FOHT

© ©.6. fabn

(@ W3t §H3

I »iaet HWIw € Hedy fow,

Js fefiprt fed fagozr »igss

ardt-feafes 7SS % Heuzs H 2

(a) THes-fsRGHifaNR »ioss

(b) IE-AUIHS eSS

() HoH »idss

@ II3 B3 Hoss
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11.

12.

A huge mass of ice fed by snow on a
high mountain slowly sliding downhill
before it starts melting is called

(a) Iceberg
(b) Avalanche
(¢) Glacier
(d) Snowball
Match the following States and
Capitals :

State Capital
A. Manipur 1. Aizawl
B. Mizoram 2. Kohima
C. Nagaland 3. Imphal
D. Arunachal 4.  Shillong
. Pradesh

5. Itanagar

Choose the answer from the following :

A B CD
(a)e1 3 4 75
(b) 3 1 4 5
@1 4 2 3
d 3 2 5

13.

GK 2014

Consider the following statements :

1  Indian road network of around
33 lakh km is third largest in the
world.

2. Ahmedabad-Vadodara
Expressway is India’s
expressway.

Which of the above statement(s) is/are
correct ?

(a) Only1l

(b) Only 2

(¢) Both1and?2
(dj Neither 1 nor 2

first

(A -

11.

12.

13.

5)
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€9 ygm I IF-I& wue =

IdtHis 98 € §93 =3 WHI

fiuss 3 ufost

e J |

(@) fIH UTTI (Iceberg)

b) WOF 3 g & WMBE TH
Ygg-gfen™ ®d98 ¥« =9
(Avalanche)

() fdH =t/3H9 3 (Glacier)

(d) I8 T BT (Snowball)

Js f&8 v w3 TATSHT T HS

|

a9

TA7 THTS!
A. M3 1. AATS
B. fHagw 2. ST
C. 38 3. féeos
D. »J598 Ugew 4. fadar

5. gieaard

Js foy fed €39 9 -

A B CD
@ 1 3 4 5
) TS S -
® plond 3m'3
@ "33 28 5
Js fou gus’ § fevs -

1. SIsar 33 BY fa@ites =
F9dt AT I Se<ad (A78),
fere fee A 899 3 T |

2. WIHTEgE-TCTdT -3,
93 = Ufas™ MIAYA-T J |

Sudas zust fed fagzr aws wdt

B/ary;

(@ frAgg 1

(b) fAgz 2

(© 1M3I 2 a2

@ 13 2 fed aft & &
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14. Quinine, a drug for malaria is made
from Cinchona tree. Which part of the
tree is used in making this medicine ?
(a) Root
(b) Stem
(¢) Bark
(d) Leaves

15. Consider the following statements
about “Harmattan” :

1. Itis a dry and dusty West African
Trade Wind.

2. It generally blows during dry
season from  December to
February.

3. It carries great quantities of fine
dust from the Sahara.

Which of the above statement(s) is/are

correct ?

(a) land 2

(b) Only1

(¢) 2and 3

(d 1,2and3

16. Which of the following pair(s) is/are
correctly matched ?

1. Kalinadi Hydro — Andhra
Electric Project Pradesh

2. Dehar Hydro — Himachal
Electric Project Pradesh

3. Srisailam Hydro - Xarnataka
Electric Prgject

Choose the answer from the following :

(a) Only1l

(b) Only 2

(¢) Only3

(d) None of the above

GK 2014
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15.

16.
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Ha8dyr &t TeEt Fdle, HEAGT

(Cmchona) 1z 3 gt g 1 fem

T=El § g o U8 = faos

£ fernms 9T w3 2

(@) #3

b 3=

(c) WHafes

@ U3

“Jaies’’ (Harmattan) HEGl IS

1. feg =t nigdftar &t 83 »3
fifenr=t =33 g2 I |

2. feg »y 39 3 =@H=9 2 =I=JT
2 yua HAH 2975 98 9 |

3. feg g3 <t w3 f&8 A9
(Sahara) 3 WIS o3 8
W T |

Sudas wust fed fagz |w@s wdt

Rar:

(@) 1 M3 2

®) fAge 1

() 2 M3 3

@ 1,2 73 3

%f&&f‘aﬁfaaa"rﬁaﬁmﬁ%mv
1. THES U 2
farslt Jiae
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17. Consider the following statements :

1. El Nino and La Nifia are complex
weather patterns resulting from
variations in ocean
temperatures in the Equatorial
Pacific.

2. In common parlance, La Nifia is
referred to as the warm oceanic
phase and El Nifio as the cold
oceanic phase.

Which of the above mentioned

statement(s) is/are not correct ?

(a) Only1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

18. Match the following :
Stream / Current Name of Ocean
A. GulfStream 1. South Atlantic
Ocean

B. Peruvian 2. South Indian
Current Ocean

C Benguela 3. North Atlantic
Current Ocean

D. West 4. South Pacific
Australian Ocean
Current

Choose the answer from the following :
A B CD

a 1 2 3 4

(b) 2 A1 dEEl

¢) 3 4 1 2

d 4 31 2

iK 2014
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GET IT ON
Google Play

J5 feu aast § feg9 -
1. ﬁamnﬁ'wzﬁw HAH &
HTBBF’H ?YH% (Pattem) J5 ﬁ

UF™ (Phase) foar wiar J |

Sudas s’ fed faos @s mdft
a3 s 2

(a) TAgE 1

(b) fAge 2

() 1M3 22

@ 103 2 fegd aft & =

I3 et & 7S a9 -
TgT HTH'GT & 3TH

A. Yyt ggT 1. 943t »ig
(IBe HedH) HITHIT

B. Ug=<tva grar 2. Ty i
(Peruvian Current)  HJTHIIS

c. 9@ grar 3. €3t »ig
(Benguela Current) HIHIIG

D. UaHt 4, S T3
WMTHII &R HITHTGIT
grgr (West
Australian Current)

33 fou feg €739 98 .
A B CD

@ 1 2 "84

®d 2 1 4 3

e 3 4 1 2

d 4 3 1 2
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19. Consider the following statements : 19.

1. Fold mountains are mountain
ranges that are formed when two
of the tectonic plates that make
up the Earth’s crust push
together at their border.

2. Himalayas are an example of
Fault-block mountains which
were created where parts of
continental crust were displaced.

3. Alps and Andes are examples of
fold mountains.

Which of the above statement(s) is/are

correct ?

(a) Onmnly1

(b) 1and?2

(¢) l1land 3

(d) Only2

20. Consider the following places and
arrange them in order of their location | 20°
from East to West :

1. Bali

2. Sumatra

3. New Guinea

4. East Timor

Choose answer from the following :

(a) 38,4,1,2

(b) 4,3,1,2

© 4,3,2,1

@ 3,4,2,1 .

21. The Delimitation Commission ’
demarcates the boundaries of the

Parliamentary Constituencies as per

provisions of the Delimitation Act. The

existing delimitation of constituencies

has been done on the basis of which

year’s census figures ?

(a) 1991

(b) 2001

(0 2011

(d) None of the above

GK 2014 (A-8)
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J5 fog aus’ § feurg .
1. A< uI3s It & fagu=ardt
ysBet wye fasg I Jor &

(Fold mountains) 9 I8 |

2. fous ew=e-sa  uggzt
(Fault-block mountains) i
Seges 3, 7 fa Hodhft ws
ferafus 395 =8 Fas 3 g2

HS |

3. WBUA W3 T =Be9 usys
(Fold mountains) ¥ ©TJ9s
Is |

Uz TEst e faozr w4t

Jas 2

(a) fAgE 1

b) 1M3 2

() 113 3

(d fAge 2


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

22. As per the provisions of the | 22.
Constitution of India, what can be the
maximum strength of the Lok Sabha ?

(a) 552
(b) 543
(e) 545
(d) 550
23.

23. Consider the following statements
regarding Bye-Elections :

1. The bye-elections are to be held
within six months of occurrence
of vacancy in any House of the
Parliament or a State legislature..

2 This is not applicable where the
remainder of the term of the
Member whose vacancy is to be
filled is less than one year.

3. This is not applicable where the
remainder of the term of the
Member whose vacancy is to be
filled is less than six months.

Which of the above statement(s) is/are

correct ?

(a) Only1

(b) Only2

(c) lianaE2

(d 1and3

24. Which of the following Fundamental 24
Rights provides protection against
“Double Jeopardy” ?

(a) Article 20

(b) Article 21

(c) Article 22

(d) Article 24

GK 2014 (A-9)

¥93 € ¥Hfeus ¥ GQudn yz=g
8 AT & »ifgasy fasdt fad 3
Hadt T 2
(a) 552
(b) 543
(c) 545
(d) 550

SU-I7 (Bye-elections) HEdl Iz

f&r&aa?;kq'%:

1. ¥HAe T a7 Aes 7 g9 feus
"o feg fam »mmfidfte usht
([de) 9= 3 & vds @ wieg
Su-g=t

(Bye-elections)

Suda3s fed fagsr g8 vt J/95 2
(a) fAge 1

(b) frAge 2

(© 1MM3 2

(d 13 3

I fou gferwdt wifgggt fod
faggr  “go9 uw3®”’ (3um-
fABusst) 3 59 @ qger § 2

(a) T'IT 20

(b) TIT 21

©) YUgr 22

(d) TTT 24
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25. As per Fundamental Rights enshrined
in the Constitution of India,
employment of children in factories,
mines, etc. is prohibited below
(a) 12 years
(b) 14 years
(¢) 16 years
(d No age is prescribed in the

Constitution

26. By which of the following writs, is an
individual’s right to hold a public
office challenged ?

(a) Certiorari

(b) Habeas Corpus

(¢) Mandamus

(d) Quo Warranto

27. Consider the following statements
regarding the Directive Principles of
State Policy :

1. There is a provision for securing
just and humane conditions of
work and for maternity relief.

9. There is a provision of living
wages for the workers.

3. There is a provision to promote
cottage industries on an
individual or co-operative basis in
rural areas.

Which of the above statement(s) is/are

correct ?

(a) Onlyl

(b) land?2

(¢) 1,2and3

(d) l1and3

GK 2014
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|

25. I93 = wfeus feg =on gfen<d 1

26.

27.

(A-10)

nifgagrgt 3fos faw €Hg 2 88 <

Sfanit T Fauent, ¥, wife

feg a0 IT&T =TW3 T ?

(a) 12 'S

b) 14 78

(¢) 16 'S

@ wfeos feg 3t Bva fsaurfas
&t it ardt

5 fou fe5 fan foempr=wm 3f73,

fea foradt @ uafEams3d €639

Fus T »ifgag & sHATPAT AT

HIeT I ?

(a) HIMHGIT] (Certiorari)

(b) ITFHH JATYH (Habeas Corpus)

(e) HBSHH (Mandamus)

@ & g (Quo Warranto)

ga-&dt © fegewsfim fRus

(zfedafee fijflusa e wee

ufet) et Is fou s@s feu9 -

1 g 996 T T3t § fontardt
IIS YE's F9< T US|

9. HWwgar Bt fesdgw @
figsss (fefdar =fa=) =
feas I 1

((O{o

$ =ufs v feus I |
Suaaz fed faug a@s At IA6 2
(a) fAgS 1
(b) 13 2
(¢ 1,23 3
@ 173 3
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28. In the context of the provisions of the | 28.
Indian Constitution, consider the
following statements :

1. Early childhood care and
education for all children until
they complete the age of six years
is the Fundamental Duty of a
parent or guardian.

2. Right to education for all children
in the age group of 6 to 14 years
is a Fundamental Right.

3. To provide opportunities for
education to a child or ward
between the age of six and
fourteen years is a Directive
Principle of State Policy.

‘Which of the above statement(s) is/are
correct ?

(a) Only 2
(b) l1and?2
(¢) Only1l
(d 1,2and3

29. Consider the following statements :

1. The Constitution provides for the | 29.
power to imposes taxes by the
Panchayats.

2. The Legislature of a State by law
authorizes the Panchayats to
levy, colleet and appropriate
taxes, duties, tolls and fees.

Which of the above statement(s) is/are
correct ?

(a) Only1

(b) Only 2

(c) Both1land2
(d) Neither 1 nor 2

K 2014 (A-11)
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g9dl Hfeus ¥ Budel ¥ Heas

feg, Iz fou Tus feog .

1. »J3 g9Us & Hg-HI® I
" "Sfont st 8 e & On9
3 &t fAftmr yms 94,
HI-fuz™ 77 Iradhs (F751)
T gfeuwdt Taw  (SI3HS
588 I

2. 6 3 14 A5 &t B9 @ W9
gfewt e, fAftprr g wifaarg
fea gfenr<t nifgag (3 HS
gee) I |

3. 63 14 'S € Hfow A7 =93
8 fiftmr = dameng 2,
feg ga-3St T fagew3fua
fagiz 9 | (sfesafer fiffus
»e Hee UTsHT)

Qudazs aus feg fagzr At Jas 2

(a) fHgE 2

b)) 13 2

(¢ fAge 1

(d 1,2 M3 3

J5 fou gast § o9 :

1. dYofest & @ wmarGe
Hadt, Hfeus ygs Jger J |

2. gA-feos wg g5 T
dgrfest § a9, 38, & w3
dn =gse, feds ags w3
yuar g9 Bet fedfang &

I
Sudas fes fags™ sus Aft Jas 2

(a) fAge 1

) fAIs 2

(0 1M3 282

@ 1 %3 2 fed aft & &t
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80. The power to conduct all elections to | 30. Ggfest gt w9t J98e
the Panchayats is vested in the State o nifqgg IH I e 5 Jor
Elcin Commisien bosded 15| 3, fr = 48 7w 32 athwes
appoints the State Election Q‘z@' J - Iv 9 IfHAsd <t
Commissioner ? fowadt d< J9er J ?

(a) President (a) ITHSIUI

(b) Governor (b) JSIET

(c) Chief Minister (¢ Wy H3dt

(d) Election Commission of India (@ TI3 T I HEd

31. Consider the following statements 31. H'E{’Fa' yg It FafaS Hedt I8
regarding the Overseas Citizens of oy qu5 fegg .

Fotn 1. feo farft & €ew Wddt g9

1. They are entitled. to the g?ant of W@g gg}’ g—g_w ugeq
n%u.lt.iple ex?try lifelong visa for (m_m) > wmfies
visiting India .for any purp?ose. . S w5t wifafas T5 |

2. They aro enild to puiy il ||, fog_vawnh st (27-
respect of all facilities available JHise  fedis) § e
to them. Tt AT H'Q'BB"' et l

Which of the above statement(s) is/are g9'99 © JIET IS |

correct ? Qudss aus’ fed fagar s@s wdt

(a) Only1l IS ?

(b) Only 2 (a) fATS 1 :

(¢) Both1and2 b fHIZ 2

(d) Neither 1 nor 2 E‘;)) i;@gz%aﬁ%ﬂ'ﬁiﬁ

32. Which o.f th'e following has/have its 32. 3% fafim fod fam <t wu o=
own Legislative Assembly ? |
1. Puducherry Hel '3{//3?5 ? ;
2. Daman and Diu 1. W
3. Delhi ... ¥Ho m3 fe@

4. Lakshadweep i feet
Choose the answer from the following : . BIHERN 3
(a) land3 ?S'ngm%ﬁi@?aﬁ
() 1,2and 3 ® 1,293 3
g g () fae 3
(d) 3and 4 @ 373 4
GK 2014 (A-12)
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33. In the context of Questions raised in
the Parliament of India, consider the
following statements and identify the
correct one(s).

1. Starred Question — A question to
which written answer is desired
by the member and is not
followed by  Supplementary
questions.

2. Unstarred Question - A
question to which a member
desires an oral answer from the
Minister in the House and is
followed by  Supplementary
questions.

3. Short Notice Question - A
question which relates to a matter
of urgent public importance and
can be asked with shorter
notice than the period of
notice prescribed for an
ordinary question. It is answered
orally and is followed by
supplementary questions

Choose the answer from the following :

(a) Onmlyl

(» dand2

(c) Only3

(d 1,2and3

34. How long can the Vice-President act
as President when the office of
President of India falls vacant ?

(a) Three months

(b) Six months

(c) For one year

(d) Till new President is elected

GK 2014
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93 € HAe feg U8 77 yus' €

Heds feg, I foy qus fegd w3

1. 39 wifas yEs - y§s famer
Hag =8 fouz a9 Hiomrm
e I o3 fam Quds yax
(muEtHedt) yms & Ug
e |

2. faat 39 wifas yus - yus fan
T Hud <8 Aes feg Hadt 3
8T A" HfapdT gier I w3
fm Guds ysa (AudiHedt)
YHS Us 7 IS |

3. W2 'few I UB A YHS - YHS
7 fa #gdt #7833 wifofns
38 HEU JYTT I M3 MH
yHs g e fist sfem =
a7 fagofas 9=, €W 3 uwe
Sfen 3 Ufen™ # A | fem
YRS = A9l A9y fd3r Ater
I w3 fem ©uI3 Y
(mdtHedt) yHs ds 7w
I5 |

(a) fAge 1

(b 193 2

(c). fH3Ig 3

(@ 1,2M3 3

¢ g93 ¢ JHGUI T TE39

ydl (W) J=2, I fds AF 3

Su-gmeaudt 39 Imeaudt 9

I AT J ?

(@ f3s vdts

(b) B HITS

e fEx s

(@ A€ 34 &2 IJHeIUFH &t I
It 9
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3500 According: to -Artide 870 -of the §35. ffegs &t uar 370 H3EL, I
Constitution, which of the following is fsfap™ feg fam W % fem
the process to cease operability of ibid gar 2 Sl¥Es & u3H Sz A7
article ? e 3 5 4
(a) Prime Minister by issuing Public ot &

notification (a) Yu's <& 634 1I|E|$=|E!25
(b) Council of Ministers  after ! 3 o ¥
attaining the Special majority of (b) HEEﬂ H38 <& WHAC 2 <5
both houses of the Parliament most o feRm HgHS 82
(¢c) President by jssuing Public @uﬁg
notification after the © dHeIudt =8 gw & Hisuwsd
recommendation of the it & freow euds
Constituent Assembly of the ﬂ. g“ !
State e b v ;
(d) President after attaining the @ THeRS 2§ AR ¥ ¥ FES
majority of both houses of o ggH3 Y3 96 w3 2/3
Parliament with ratification by gaT bt fegs HI= =
9/3™ of the State Assemblies 7{@1-5'3[1' Y3 T35 g3

36. Recently, which one of the following | 36. 3393 3 wmdH vig M3 99 "t
international groupings has 3 ygg HSIENEE T HE 3 3
temporarily banned the import of fE'§" = MTGT‘%’ 3 El"'@; $f. A=
Alphonso Mango and four vegetables fafip ﬁ'g‘é’—a’ﬁ'&’é’f FHT ,fgﬁ
from India on poor quality issue ? . g‘d’ 3 P :

A I doH BAEl
(a) SACU et I 2
() S0 (@) SACU
(¢) MERCOSUR ®) EU
(@ OPEC (¢) MERCOSUR
87. Who has the power to abolish the (d) OPEC
LegiSIative CounCil Of a State (Vidhan 37 W Eﬂ. . m uﬁm ?0; Hg)_{
Burishad)? (vEfen) 96 = il foa =
(a) The President of India F9
(b) The Governor of the concerned
G i (a) 3*33 T gacavdt

(¢) Cabinet of the State (b) T 2

(d) Legislative Assembly of the (0 F7 < 752
concerned State (d Heu3 I+ &t feas AT

GK 2014 (A-14)
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38. Which of the following Schedule(s) of | 38. $7J3 2 Hfegs feu Iz Tt
the Constitution of India contain wiaadt (Hif38%) feg fam feu
special | provisions = for  the g3 g @ woHfes 939 M3 TS
administration of Scheduled areas and = St i ot Sud
Tribal areas in several States ? 3_5 " ® i* =
1) Fourth 1 k év_a_r
2. Fifth 2' -

3. Sixth 3' B=i

4. Seventh PR

Choose the answer from the following: I fou fog wdt = P AT
(a); Lpne.s @ 132 i vidter
(c) R = () frge 2

(@) Bend 4 @ 3w 4

39. Right against Exploitation, which is a | g9, HEZ fegg wifagg # fg fe=x
Fundamental Right includes the sfenrt gnfﬁ:rarfa (é’s*ﬂ??s gete)
follen feg J5 93 wivs I8
1. Prohibition of traffic in human v 2

beings o

9.  Abolition of untouchability
3. Prohibition of forced labour

4. Prohibition of employment of . Sarg =gTs
children in hazardous jobs . e

Choose the answer from the following : s fe¥ fe9 € s
= (2) 1M3 3
(a) land3
- (b 173 4
b () 1,2m3 4
© S (:1) 1’ 3W3 4
(d 1,3and 4 — !
40. B9 HIT EF ‘@ ws W8T UH
40. Lok Sabha passes Vote on Account S T I =
(a) To meet the expenditure during e T YAI=ET
the intervening period between - o < & it ;@ U O ?
the introduction of budget and its =t , U39 ¢
passage ydr 946 \
(b) To meet the expenditure on secret (b) W@ug Aafefrd € y99 )
services ygT I35 BE
(c) To enable the government to © TIIT B nesus wee &
meet unexpected expenditure yaft st mHoE ST BE
(d) None of the above @ Sudas fed gt & &It

GK 2014 (A-15)
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41. Swimming is possible on account of
which of the following scientific
principles ?

(a) Newton’s first law of motion
(b) Newton’s second law of motion
(¢) Newton’s third law of motion
(d) Newton’s law of gravitation

42. When mechanical waves have a
frequency above the audible range,
these are called
(a) Sonics
(b) Infrasonics
(¢) Supersonics
(d) Ultrasonics

43. M.R.L is considered to be superior to
C.T. scan for the following reasons :

1. M.R.I can obtain images in any
plane.

2. M.R.I. produces 3-D image after
mixing all images of single plane.

3. M.R.I shows movable anatomical
images.

Which of the statement(s) mentioned

above is/are TRUE ?

(a) Onlyl

(b) 1,2and 3

(¢ land 3

(d) Only3

44. Antibodies in our body are complex
(a) Prostaglandins
(b) Glycoproteins
(¢) Lipoproteins
(d) Steroids

GK 2014
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T g 3 395" Hee dTT I 2

@) fo€es = ot dAudt ufos
foaH

®) fs8es = it Hedt gar foud

(c) fa@za@ars"rnsd?zﬂwﬁsmw

(d) ﬁs@e?s T gg3r fie HEdt
fowH

e vafsdt (vafsa®) 3dar <t

Tgeasr (SdioiHl) waswar HiHT

(F) 3 Qug ], 3 fegt & faar

T I

(a) AfeaH

) feseaRfsan

(9] Hlﬁﬁﬁ‘ﬁm

(d) MBI RIGIH

e e, § LA, "as 3 I3

1. g, faft & doass
3 yfsgy & AT J |

2. WH.MI.Me. fEIS TuaEs ©
yfsgut § fusr & fE6-nmaH
Hedt yfagy g=8= J |

3. WMH.Ag.E, oo fefamrs
T

Qusas fed fagzr aus At 35 2

(a) fAge 1

b) 1,2 3 3

(¢ 13 3

@ frAge 3

A3 wdg fes S9owHA

(ﬁ'é’f&té’fa)ﬁmg*____

(a)

(c) ﬁﬂw
(@) FwIofesH

e
35 |



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

45. In Pressurized Heavy Water Reactors, | 45. <¥°1 IEEES gt v &t YH'E F&T

the heavy water is used as (USHTEHS I T Fhaea)
1. Coolant fog, gt Ut (3 Te9) § 9
2. Moderator fermays g 7w I |
3. Fuel 1. e (Hiss 338 y=9E)
Choose the answer from the following : 2. H'3JT
(a) Only1l e YA
(b) 1and3 Js foi fed €39 3¢
(¢) Only 2 (a) THIS 1
(d 1and?2 gl
(¢ fHge 2
46. Which one of the following is known as _ @ 1 "3 2
Marsh gas ? 46, I fofimrt f=3 fam & HWaw (897)
(a) CO | 3w fagr 7T T 2
(b) COj3 ) CO
(¢ CHy R C0s
i (C) CH4
(d CHy @ CH,

47. Which of the following can be | 47. H=-fefgasT =) “fes-Hig

considered as “In-situ conservation” of m” =% Iz fef feI
Bio-diversity ? o & fegrfonT °F HaeT 9
1. Ce ation of species in their at S : .
:& a1 habitats. 1 ToHH j %?35' e a_€a|3|
2. iz ¥ |
Captxvé breedmg of animals and Ts=gt ShsT SHSIHT
artificial propagation of plants. 3 s j = | ™3
4. Collecting living organisms for X Lr 4 S AT
zoos, aquaria, and botanical 4. : Hi< [ EEIL ’
gardens for research. m—;ﬁgmw "3 g s
Choose the answer from the following : - fg&aa Iﬁ%"ﬁi’? aﬁg HIST |
(a) land 2 s 1”@23 sd
(b) 2and4 (:) Tl
(c) Onmly1l © fi A
(d) SR (@ fAde 3

GK 2014 (A-17)
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48.

49.

50.
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In the structure of planet Earth, the
inner core is mainly made up of which
one of the following metals ?

(a) Fe
(b) Al
() Si
(d Cr

Which of the following pollutant(s)
is/are emitted from Automobile
emissions ?

1. Nitrogen Oxides

2. Carbon Monoxide

3. Hydrocarbons

Choose the answer from the following :
(a) land3

(b) 2and3

(¢) land2

(d 1,2and3

During last year Ashes series, the
International Cricket Council (ICC)
was reportedly investigating incidents
of bat tampering designed to evade
‘Hot Spot technology’ by players.
Which of the following materials was
reportedly under the scanner for the
same ?

(a) Fluorescent tape
(b) Silicon tape

(¢) Plastic tape

(d) Fibre tape

48.

49.

50.
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godt qfa <t g=39 w3=w, few @
negat dug T fmrer 39 9,
J5 fdfter o3t fad fam = sfowr
Jfem™ I 2

(a) Fe

(b) Al

(e) Si

(d) Cr

35 fafimft fed faoa(3) Tws =8
33 Hegeds  (wreHgfEs) R
feam feg fesase I 2

1. &fecdns Gandzq

2. dJYS HeEaHES

3. JEi3II9EEH

J3 fou feg €739 9 -

(a) 1’*@3

(b) 2 M3 3

() 1M3 2

(d 1,2 M3 3

s s <t afew fida S5
fusEn @8 ‘ge-wye It 3
gUS BE 8¢ 3% odt ardt @3-
&3 Hudl, »3T-gHedt faae dns
(et LHY.) &t 79 = HHsT
g9ur feg Ht | few A9dt I fau
fe§ yag' w3Hx fagz™ ueay
ydhae »itfls Ht 2

(a) TBIAC U

(b) HifSds 2u

(c) UBHfeT 2U

(d) efe"sg 2y
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Directions : Read the passage given below
and answer the following questions (Q. No.
51 to Q. No. 54).

Some modern anthropologists hold
that biological evolution has shaped not only
human morphology but also human
behaviour. The role those anthropologists
ascribe to evolution is not of dictating the

details of human behaviour but one of.

imposing constraints — ways of feeling,
thinking and acting that “come naturally” in
archetypal situations in any culture. Our
“frailties” — emotions and motives such as
rage, fear, greed, gluttony, joy, lust, love —
may be a very mixed assortment, but they
share at least one immediate quality: we
are, as we say, “in the grip” of them. And
thus they give us our sense of constraints.

Unhappily, some of those frailties —
our need for ever-increasing security among
them — are presently maladaptive. Yet
beneath the overlay of cultural detail, they,
too, are said to be biological in direction, and
therefore, as mnatural to wus as our
appendixes. We would need to comprehend
thoroughly their adaptive origins in order to
understand how badly they guide us now.
And we might then begin to resist their

pressure
51. a implies that control to any
—J the “frailties” that

cons : behaviour is thought to

pres

(a) ¥: ‘those  frailties are
recoguzed as currently beneficial

and adaptive
(b) That there is little or no overlay
of cultural detail that masks their
true nature
(c) That there are cultures in which
those frailties do not “come
naturally” and from which such
control can be learned
A full understanding of why those
frailties evolved and how they
GK 2014
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It can be inferred that in his
discussion of maladaptive frailties, the

author assumes that

(a) Ewvolution does not favour the
emergence of adaptive
the

emergence of maladaptive ones

characteristics over

(b) Any structure or behaviour not
positively adaptive is regarded as
transitory in evolutionary theory

(¢) Changes in the total human
environment
evolutionary change

can outpace

(d) Maladaptive characteristics, once
fixed, make the emergence of
other maladaptive characteristics

more likely

The primary purpose of the passage is
to present
(a) A position on the foundations of

human behaviour and on what
those foundations imply

(b). A theory outlining the parallel
development of human
morphology and of  human

behaviour

(¢) A diagnostic test for separating
biologically determined behaviour
patterns from culture-specific

detail

An overview of those human
emotions and motives that
impose constraints on human
behaviour

(GY)
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54. Which of the following most probably
provides an appropriate analogy from
human morphology for the “details”
versus “constraints” distinction made
in the passage in relation to human
behaviour ? '

(a) The ability of most people to see
all colours of the visible spectrum
as against most people’s inability
to name any but the primary
colours

(b) The greater lung capacity of
mountain people that helps them
live in oxygen-poor air as against
people’s inability to fly without
special apparatus

(¢) The ability of even the least
fortunate people to show
compassion as against people’s
inability to mask their feelings
completely

(d) The ability of some people to dive
to great depths as against most
people’s inability to swim long
distances ‘

Direction : For @ No. 55 and 56. In the
following questions choose the word which

best expresses the meaning of the
underlined word.

55. Repudiate
(a) Reject
(b) Annoy

(¢) Appropriate
(d) Besmirch

56. Erudite
(a) Settle
(b) Academic
(¢) Expand
(d) Execute

GK 2014 (A-20)
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Direction : For @ No. 57 and 58. In the
following questions choose the word which is
the exact opposite of the underlined word.

57. Flagitious
(a) Vapid
(b) Frivolous
(¢) Ignorant
(d) Innocent

58. Ominous
(a) Favourable
(b) Pleasant
(¢) Auspicious
(d) Encouraging

59. Consider the translation of the
following words and choose the correct
option(s) :

1. In toto —’;Eﬂ 3§"
9 Intra Vires — fexfang »igg

3. Intangible —dI9d
Choose answer from the following :

(a) Onmnly1l
(b) 2and3
(¢) 1and2
(d 1,2and3

60. Consider the translation of the
following words and choose the correct
option(s) :

1. Hagiography — H3 =3t

9. Halo — HaUs 35 BEt dfonr
e &8 Hae

Choose answer from the following :

(a) Only1l

(b) Only 2

(c) Both 1and 2

(d) Neither 1 nor 2
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61.

62.

GK 2014

Through which of the
companies, is the Govt. of Punjab

following

providing 108 Emergency Ambulance
Services ?

(a) GVK

(b) M/s GMR Healthcare
(¢) M/s Zigitza Healthcare
(d) Bharat Vikas Group

Panem Coal Mines Ltd. which was in
the news recently is located in which
of the following  districts of
Jharkhand ?

(a) Pakur
(b) Bokaro
(¢) Dhanbad

(d) Deogarh

There are two Community Reserves in
Punjab. Identify the correct pairs from

2. Keshopur Chhamb Community
Reserve — Pathankot

Choose the answer from the following :
(a) Only1l

(b) Onmly2

(¢) Both1land?2

(d) Neither 1 nor 2

61.

62 .

63.

(A-21)
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gff Ay Adad =5 108 WMHIAHT
Wg8n A S A I
I ?

(a) HL...

(b) WHAHA HAH. WS, ISFaMI
(c) #WHpAH Hifazar Jsgama

(@ 93 feam gy

ysH auT ys fefufes, 7 fa a3
It yggt feg Ht, sous T I fay
J 2
(a)
(b)
(e) TR

(@)

Uarg feg € Ivgfsdt famas 6 |
Js fou fed vt aftmd ug< |

1. IBTE IHGle!  fawas -
Ifmayg

2. JHYT B9 FHGf&ST foma=e -
YSTSAS

I fou feg €39 5 -

(a) fRIE 1

(b) frge 2

() 1M3 2 &=

@ 13 2 fed It & A
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64. Which of the following statement(s) | 64. Iwedt fgft  feaw WHST

is/are correct regarding Rashtriya 8o
Krishi Vikas Yojana (RK.V.Y.) ? (9. 3.J.2e.) Hed ¥ fod

1. The main objective of the scheme

is to provide flexibility and 1. WH =7 }_:IJH @é’ﬂ' g ?:5

autonomy to the States in the BasEd ot L{'%rfa')ﬂ'f M3

process of planning and executing Yftg=ht & HYu3s ¥3I h

Agriculture and allied sector F B g = B9

|y (Baffasdl) W3 wdiss
2. To ensure preparation of Sy )

agriculture plans for the districts
and States based on agro-climatic

conditions, availability of KES 3,” ot At € l,
technology and natural resources. dHe=, .’33&—?'8@3 St
3.. The pattern of grant is 80 percent = &
Centre’s share and 20 percent as __E!EGS’I . HTUG6 (RUEE!
the State share. gSET A | i
Choose the answer from the codes g. “gpe = »ud 80 {'\3”3 et
given below : T M3 20 Yf3H3 IH I
(a) Only1 J 1 .
Js fou feg €39 5 -
(b) land?2
i oAt (a) fAge 1
M. ®) 13 2
(d Only3 () 2M3 3
65. Consider the following statements : @ fAgs 3
1. Chhota Ghallughara Memorial is | g5. = fou qE&T -‘:}- fegg -
located in Kahnuwan, S
1. 27 WIWIFT AHI JIeES,
Gurdaspur. < O
5 9 greeHyd feu wfEs I |
9. The historical place where
Emperor Akbar was coronated, is 9. fefsgfAa wEs i@ "<Hd
located in present day Pathankot »agg o IH-UH It R,
district. e fasr ussae e wfes
Which of the above statement(s) is/are I
correct ? Sudas fed fao3 sgs At A5 ?
(2) Onlyl (@ fAge 1
(b) Only 2 (b) fHIE 2
(¢) Both1and 2 © 1M3 2=
(d) Neither 1 nor 2 @ 13 2 fed &t & s

GK 2014 (A-22)
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67.

Which of the following Assembly
segments are due for Bye-elections in
Punjab ? :

1. Patiala Urban
2. Dhuri
3. Talwandi Sabo
4. Moga

Choose the correct answer from the
options given below :

(a) land?2
(b) 2and4
(¢) 1,2and3
(d 1,3and4

Match the following :
Monument

A. Ancestral House
of Shaheed
Udham Singh

Place

=

Ferozepur

B. Anglo Sikh War 2:
Memorial, Mudki

Rupnagar

C. Ancient Temples,
Dholbaha

¥

Kapurthala

D. Moorish Mosque 4. Hoshiarpur
5. Sunam

Choose the answer from the following :

A B CD
@ 2 1 3 4
) 5 1 4 3
¢ 5 2 4 1
@@ 2 3 1 5
GK 2014

GET IT ON
Google Play

66. I fsg Yay <€ TeUs HF

67.

(A-23)

gofanrt fed, fagr f= Qu-gt
(Bye-elections) I& BT TS ?

1. ufenst wfadt

2. T4l

3. 3IB=S HHE

4., Har

Js fou feg €739 9 ¢
(a) 1 M3 2

(b) 2 M3 4

(¢ 1,273 3

@ 1,3M3 4

Js fafumt & HS 9 -
FHGE il
A mdfe o w1 fedmus

= A<l W

B. Was-fAy J3El 2. JUSIT
HHSd, HEdl

c. ydis Hea, 3. AYJIES'
eI’

D. Hfgw HAfT= 4. Ifpraus

5. H&H

s fou feg €39 9 -
A B CD

@) 2 .1, .3 4

® 5 ‘1 4 3

(@ 5 2ehd1

@2 3 1 5
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68. Which of the following canals is/are 68. J fou feg fagdut afga, GOy

part of Canal Irrigation system of
Punjab ?

1. Upper Bari Doab Canal

2. Makhu Canal

3. Shahnehar Canal

Choose the answer from the options
given below :

(a) 1and3
(b) Onmnly1l
(¢ land?2
(d 1,2and3
69. In the context of Maharaja Ranjit
Singh, arrange the following historical
events in the correct chronological
sequence :
1. Battle of Attock
2. Conquest of Multan
3. Battle of Shupaiyan
Choose the correct answer from the
following :
(a) 38,2,1
b 1,2,3
e 2,13
d 1,3,2
70. Hymns of which of the following Sikh
Gurus are contained in Guru Granth
Sahib ?
1. Guru Har Rai
2. Guru Angad Dev
3. Guru Tegh Bahadur
4. Guru Hargobind
Choose the correct answer from the
following :
(a) Only 2
(b) 1land?2
(¢ 2and3
(d 2,3and4
GK 2014

70.

(A-24)

2 ofge fiedt Y&t = o

IS ?

1. »ug gt 9" &fJd (Upper
Bari Doab Canal)

2. WYy &fJd (Makhu Canal)

3. WJ&Jd &fdd  (Shahnehar
Canal)

(@ 193 3

®) fAss 1

(© 1973 2

d 1,273 3

HI9T I3 fiw @ Hegs feu
I fou fefsofag wes=' § wdft
IZ-gH & IISE  (Chronological
sequence) feg a9 :

1. »Tg & s

2. HWE3S €3 3

3 Fufes = I (Battle of

Shupaiyan)

Iz fofiprt fag €739 9 -
(a) fAIe 2

b 13 2

(© 2M3 3

d 2,33 4
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71. During whose reign did Khan Jahan

Lodi revolt ?

(a) Akbar

(b) Jahangir
(¢) Shahjahan
(d) Aurangzeb

71.

72. Who amongst the following was not

associated with the Ghadar Party ?
(a) Tarak Nath Das

(b) Maulvi Barkatullah

(¢) Vishnu Ganesh Pingle

(d) Ganesh Srikrishna Khaparde

72.

73.

73. Who was the “Rajpramukh” of PEPSU

at the time of its creation in 1948 ?
(a) Yadavindra Singh

(b) Jagatjit Singh

(¢) Gian Singh Rarewala

(d) Raghbir Singh

Who was the founder of Ahmadiyya
Movement ?

(a) Maulana Muhammad Ali
(b) Mirza Ghulam Ahmed

(¢) Mirza Hadi Beg

(d) Maulana Gul Muhammad

74.
74.

75.

75. Arrange the names of following Sikh

Gurus in correct chronological
sequence :

1. Guru Amar Dass

2. Guru Har Krishan

3. GuruHarRai

4. Guru Hargobind

Choose the answer from the following :
(a) 1,2,3,4

() 1,4,2,3

(e 1,3,2,4

(d 1,432
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far &t IgH3 296, s "Is St
& gare3 it aret Ht 2

(a) M3Ed

(b) HAITMT

(¢) WIAIS

(d) MIIme"

Iz fefiprt fod ds 929 YIS

Heuzg a4 H 2

(a) 39K & TH

(b) NS F9a38T

(c) ﬁ'ﬂ’g’ﬂ@ﬁﬁh@

@ weH HifgHsT vuae

1948 f=g um &t @3yt <9, ©F

o “gapy” d Hi ?

(a) wafeegr fAw

OBGEECIERLL

(c) faprs fiw g9

@ udtg fiw

:;}zmaﬁ»r sfog = #AmEUd dS
5

(a) WSS HIHE WSt

(b) THIET IBH »iIHE

() fHaa =t 8

@ WSS IS HIHS

5 fou fitg ger € a=f § Wl

TB-gH &1 393" (chronological

sequence)f'%’%’aa:

1. I MHIEH


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

76. Consider the following statements :

1. The Kartarpur Vali Bir was
dictated by Guru Arjun Dev to
Bhai Budhha and the compilation
was made at Amritsar.

2. Compilations of Guru Gobind
Singh were collected in a
separate volume called the
Dasven Padshah Da Granth by
his disciple Bhai Gurdas.

Which of the statement(s) is/are true ?

(a) Onlyl

(b) Only?2

(¢) Both1land?2

(d) Neither 1 nor 2

77. Tripartite Treaty was signed in 1838.

Which of the following was not a party

toit ?

(a) British Govt.

(b) Maharaja Ranjit Singh

(¢)  Dost Muhammad

(d) Shah Shuja

78. Amrita Pritam was the first woman
recipient of the Sahitya Academy

Award in 1956. She was given this

award as a recognition of which of her

following literary works ?

(a) Kagaj te Canvas

(b) Sunehey

(¢) Kala Gulab

(d) Rasidi Ticket

GK 2014
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1. JI3IUIEH #13,
waasoe =8 IE HeT

D4 «%l

Cil
foyzdt ot Ht w3 fem =
Haws wifysas fed  dfenr
H |

0. qg dfde fiw It sS&<
et geEH =% feg W W
FHE THE USHY ©F d@ €
gu feg Hafes e famr # |

Suiaz aEs’ fed faos a@s W

IS ?

(a) fAge 1

() fAge 2

(© 1M32e=

@ 1m3 2 f=g aft & &t
fgomaft #dt 1838 feg it ardt Ht |
35 fefimr fed 3= few = fowr
adf 2

(a) fgfew A3

(o7 3
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79. The Treaty of Lahore 1809 was signed | 79. 1809 #ft =9 Ao, fa;f?’ﬂ' RG]

between the British Govt. and I Ho9w deds fAw fesas
Maharaja Ranjit Singh. Who amongst ¢ Ht 5 fsfiprt =5 fam >
the following signed this Treaty on o

behalf of the British Govt. ? f;zr?m‘?, ffer woarg &t 398 1
(a) Charles Theophilus Metcalfe :

(b) Lord Minto i:; E’a““ﬁ‘a@'gg” Heaes

(¢) Colonel O¢hterlony

(d) Lord William Bentinck (0 TIGE MAIBA!

@ TS fedh §sféx

have been included in Adi Granth. i

R ; yeeTs WHS J95 | Js fed
ange the names of following s o - . o
Bhagats and Saints in the correct FTIHST T T ) At IE-gH
chronological sequence : &t 339  (chronological sequence)
1. Ramanand fes a9 3%
2. Sadhna 1 JTHTGE
3. Dhanna z ﬁFIIES
4. Surdas 3
Choose the answer from the following : R S 0
@ 3,1,4,2 azfzfif‘fﬁz@?a_ e .
Pl p ® 1524
(€ 28,5 4 (c) 2’ 3, 1,4
(. 28,8 4 @ 21,34
81. Who amongst the following players | 81. Iz foi fugdhy fed fam § II7 &
was defeated by Maria Sharapova to e faler 28 <99 §us 2014
wib PR O =i ! fitfanr fomr 3 2
(a)ggFiimigie Hifer @ Wis I8y
(m%mwmmms ®) Hidter fedhmm
(¢) Venus Williams

(d) Eugenie Bouchard

82. Rajkummar Rao won the Best Actor | 82, 613 Iwedl femw »=9sd feg

award in the 61°% National Film FaHg 96 & I fefpnt fed fam
Awards, for which of the following famy SEt AES Wfgs3T T WIS
films ? frfenr T 2

(a) Ship of Theseus (@ Ty »e HfAur

(b) Rangbhoomi () E

(¢) Shahid (¢ wiae

(@ KaiPo Che @ aeTe

GK 2014 (A-27)
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83. Ambassador car was originally based | 83. »MHEAST ISt Hfsa 39 3, fam

on the model of which car ? IEFH T 38 3 vafas H 2

(a) Bugatti (a) Hart

(b) Maserati Birdcage (b) RHIS gI3dH

(c) Porsche (e UIH

(d) Morris Oxford @ Wfew

84, WHAH.G NS, (HEdt AT =B

o4 MMOTL ovambe Mot One P | * e Tofze) 5 s S
com.prising ot:] which of the follosvinz Bt 3 I ﬁf‘E‘H’ ﬁ? 33 fedor
companies/organizations ? IESEIH Ut /HAE= HHS

1. Reliance Infrastructure IS ? .

2 VeckinTransport 1. dieform femmema’

3. Mumbai Metropolitan Region < %?@W ZGTHPBZ |
Development Authority 3. ):fa'é:f Hedufses dtvs
(MMRDA) FHezuHz WMETIS

4. Larsen and Toubro (AH . AH. Mg FR.)

Choose the answer from the following : 4. B'IHS ”@V '9'8"3

(a) land3 Iz fed fed @_5'3 g

) 1,2and3 (@) 17133

@ 1,3and4 o -

e e @ 223»@4

85. Quebec, which was recently in the | 85. fargﬁs( g5 Ot Idtaueg &€t Hee
news | for  the| | heliopteraided | " g5 30 35 3 5w ) it few
whichof,thefollowingcountries? l I%W@HT@%WEHTW

@ USA. i’;’ ?ﬁiﬁ; 37

(b) Canada ®) 3@3" ¥

et © fodt

(d) Ecuador @ feanrss

86. The biography of legendary actor Dilip | 86. I{Fﬁ'ﬂ wfgs3sT Ty gHd ot =t

Kumar titled ‘Substance and Shadow’, ‘HOASH A3 ﬁ—g” far =5 fadt

is authored by a2

(a) Abhimanyu Dosanjh (a) m IH'S

(b) Keerat Prashar (b) I3 UIHI

(¢) Saira Banu () Wfear 93

(d) Uday Tara Nayar d €g 33T %rf‘ga

GK 2014 (A-28)
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Poorna Malavath of India has created
a record as the youngest female ever
in the world to climb Mount Everest.
She belongs to which of the following
States ?

(a) Jharkhand

(b) Chhattisgarh

(¢) Telangana

(d) Karnataka

The 35th National Games are going to
be held in 2015 in and

is the Goodwill Ambassador
for these Games.

(a) Karnataka, Sachin Tendulkar

(b) Kerala, Sachin Tendulkar

(¢) Kerala, Milkha Singh

(d) Goa, Milkha Singh

Homi Bhabha Cancer Hospital and
Research Centre (HBCHRC) shall be

set up at which of the following
places ?

(a)
(b)

Bhawanigarh, Sangrur

Khanna, Ludhiana

(¢) Zirakpur, Mohali

(d) Mullanpur Garibdas, Mohali

The following countries have won the
Football World Cup at least once upto
2010 :

1. = Germany

Argentina

Brazil

Spain

Arrange these countries in the
descending order of the number of

times they have won the Football
World Cup.

(a) 3,2,1,4
(b) 3,1,2,4
() 3,421
d 38,1,4,2

2.
3.
4.

87.

89.
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93 &t ygs we=E & feme fem
Ag ¥ & Gvo &t et = HEE
Weane 3 93 ¥ foaas s
3 | yI wueE, Js fefort feq,
foam g7 <t =Rdla I 2

(a) IS

(b) EIHIF

() 3I3araT

(d) IIae

352 gHedt ¥37 2015 fe9

e St T It Ts W3
$ fegt w3t = ‘disfes

IHe3’ gefen fad T |

JHUS™S M3 9 d©d (HBCHRO)
fog mefuzg o3 7= ?

(a) g—qﬂ?ﬁmg Hagd
Sfanrer

1. HIHa!

2. MIABAST

3. HIHIS

4. TS

ey feme Ju & fosdt ws=a
wee 3% gy feu a9 w3 I3 feu
feé‘@“—gagé

(@ 3,21,

(b)
(c)
(d)

-

w o L o
o
RSN

-

-

DN =

-
)
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Beem: yra 3. 91 T yHS 3. 94 B
I8 43 & fomrs 378 yF W3 Ys a8
Y3 € ffF 43 € wgd 3 HI 837
g |/

At arfog fdss o feaw dae
g TI3BEt AHHIH € g Guds
feafrz It =zt fAftr Yot 303
wiglodt ATa3 w3 935 € ugs-ugSs
T wrg 3faz Ifewr | wfecdt g9 3
Ae 935 WSt & few = fo<a8 39w
wzs fg wmus fages wer 3T |
H935S AHIH 38 nigg-fafomr 3
HIIG AfI3-wifods Aaes Us-aaer,
HHIZT, Jeeefont w3 uaH-Taer fed
feas d Ags-a@a feg w8 &8 fen
yFt At ude T ufo=dss dF HI=A
Ht w3 few 3 nEro ufodt =9 fam
€33 av & Afas-udua™ w3 WiIsT
T feafig guf o= m3 ufgs HI=
Iferm | Ru-29 w39 9 fefopns =
YSH 95 o =EEs3 ANdl Ae-fedt
it STaHl®s w3 Sfux I < 93
JT J9d MBYST © [<AHS HI™M o
forfaz de Aee Ifomr | wiagHt fefenr
yeit  wfls UeH it Eonfsa
YFUTE S AT A8 T w9y Jfenr |
fegs € 95" 3 fezer I8 J9 I95 =t
I5 | ufgsr, wFh fefewa 7
wIgafHa 837; gAIT, IIABIE HASHIS
wfedt; Siwgr, dardt g 3 wias gyt
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Ha-gr=sn;, w3 Jg7, S Higwaex HS
St wells wrfe | fegt dist 3 Gt
rfos-fdss @ €2 fig ot a=s =
W sfiar faget | daft S =8
fourdt darsft s @ feadiaes =t =1,
fere wiaeft 59 wigere w3 fousnr &
& Gt wfoz g yIHfsfor = O
e fafar et
wiargat o »HE & &ts fAfeer—

Y@t 3 ot ygre yrfen 2

1. 3" & nidedt Afa3 = <88
g3 |

2. BT S wiagdt ATIZS UFET HI
CiEdl

3. A3 feafmz wfas &% 9
~ fipm

4. Yadt wAfoz yH WIS
gefeT |

(@ 132 -

() fAgE 2

(© 8 M3 4

(@ fHaz 4

-y y3g fI9 =)

HTHS J< € ot »Ag fumT 2

(a) " AT f&g =tz w2 Sidlasr
et |

(b) 93 fed »izgamedt yug ©
fefarasa Ter I8 |

(¢ At ¥ feam = IT.

& |
@ ugret afss I aret |
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o3. Yt wifgz f3s | feaw € 9 | ge. ‘Yow f&g 3t do=r T At »TE
faa%maav T2
1. B7 "N o HEes 83 |

9. Bt = wudt §F yF AT |
3 oSt FedT-otH3t  fe9

(a) Wufe™ € SIHS JI&T |
) wrufedt 87 0 Yds' |

femer | (¢) WMUST 93 §T o U |
fefon Headt A wgast | @ wmfenr § &9 UTEe |
%fggf_%'qﬂ?ﬂ'@'?aﬁ 97. Furrowm@mmd’rﬁ'?
(@ 1M3 2 @ s
®) 1,2M3 3 b 8T
ey © foot S 9 T
(n) il o @ ysgH!
94. %?Wéﬁ%f@a‘ﬁw os. ‘cos FEe 2t wioE IS ?
L. wfos g9 it | 1. <9
9. wifgz $ fedsr a9 Ao | = gﬂ?
3. g3 ¥ wa=e A3 | R faer
s wfgz & wdft wdi S 4. I3
ydarfem | ¥z fou fead €39 9 -
I fou fog €39 9 - (@ 1M3 2
@ fFEE1 3 b frge 1
b) 23 3 (¢) 173 4
(© 134 @ 1,33 4
@  1,2,3 73 4 99. I fafimit fed 7 wue U< :
95. ‘gan’ wue < fagz wdt 9w - B
a5 ? (b) I
1. aH (@ YIF"
2.7 S (@ V=
i. E—: o 100. Acquaintance HI¥E <" At Uart
3o fou fed €739 92 - g gE -
(a) 1 M3 2 (a) U3T
(b) 1,2,3 3 4 () g
(© 1,23 4 (c) TAHEST
(@ 1773 4 @ wasHe
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PUNJAB PUBLIC SERVICE COMMISSION

FINAL ANSWER KEY

PUNIJAB CIVIL SERVICES (EXECUTIVE BRANCH)
TO BE FILLED THROUGH REGISTER C

FOR PROCESS YEAR 2008, 2012 AND 2013

SERIES-A
Q. No. Ans Q. No. Ans Q. No. Ans Q. No. Ans
1 B 26 D 51 D 76 D
2 C 27 C 52 B 77 C
3 A 28 A 53 D 78 B
4 B 29 C 54 A 79 A
5 B 30 B 55 A 80 D
6 B 31 A 56 B 81 A
7 Cc 32 A 57 D 82 C
8 Cc 33 Cc 58 Cc 83 D
9 D 34 D 59 D 84 B
10 A 35 C 60 A 85 B
11 Cc 36 B 61 Cc 86 D
12 D 37 L 62 A 87 C
13 B 38 B 63 A 88 B
14 Cc 39 D 64 B 89 D
15 D 40 A 65 A 90 B
16 B 41 Cc 66 x 91 C
17 B 42 D 67 B 92 y
18 Cc 43 s 68 D 93 D
19 o 44 B 69 B 94 B
20 A 45 D 70 Cc 95 B
21 B 46 Cc 71 Cc 96 C
22 A 47 Cc 72 D 97 A
23 Cc 48 A 73 A 98 A
24 A 49 D 74 B 99 D
25 B 50 B 75 D 100 B

Question is withdrawn and One [01] mark is awarded to all candidates.
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